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-                         ( DDD )   =    x3.t2/x0.t4    =   x3/t2   .   x0.t2/x0.t2
( DSD )    =    x4.t2/x1.t4    =   x3/t2   .   x1.t2/x1.t2

( SDS  )    =    x5.t2/x2.t4    =   x3/t2   .   x2.t2/x2.t2
( SSS  )    =    x6.t2/x3.t4    =   x3/t2   .   x3.t2/x3.t2
0 , n                   ( UDD )   =   x3.t1/x0.t3    =   x3/t2   .   x0.t1 /x0.t1

 ( USD  )   =   x4.t1/x1.t3    =   x3/t2   .   x1.t1/x1.t1
c( DCD )   =   x4.t3/x1.t5    =   x3/t2   .   x1.t3/x1.t3
( SUS  )   =   x5.t1/x2.t3    =   x3/t2   .   x2.t1/x2.t1
c                      ( CDS )   =   x5.t3/x2.t5    =   x3/t2   .   x2.t3/x2.t3
c ( CSS  )    =   x6.t3/x3.t5    =   x3/t2   .   x3.t3/x3.t3
+ , p                ( UUD )    =   x3.t0/x0.t2    =   x3/t2   .   x0.t0 /x0.t0
( USU )    =    x4.t0/x1.t2    =   x3/t2   .   x1.t0/x1.t0
c   ( UCD )   =    x4.t2/x1.t4    =   x3/t2   .   x1.t2/x1.t2
c( CUS )    =    x5.t2/x2.t4    =   x3/t2   .   x2.t2/x2.t2
cc                    ( CCD )   =    x5.t4/x2.t6    =   x3/t2   .   x2.t4/x2.t4
cc ( CCS )    =    x6.t4/x3.t6    =   x3/t2   .   x3.t4/x3.t4
++                        ( UUU )   =   x3.t -1/x0.t1   =   x3/t2   .   x0.t -1/x0.t -1
cUCU )   =   x4.t1/x1.t3    =   x3/t2   .   x1.t1/x1.t1

cc( CCU )   =   x5.t3/x2.t5    =   x3/t2   .   x2.t3/x2.t3
ccc                    ( CCC )   =   x6.t5/x3.t7    =   x3/t2   .   x3.t5/x3.t5
1


30.11.2001

